RAF Airman Numeracy Practice Test 2

11)	What is 31.456 expressed to 2 decimal places?
A	31.40
B	31.45
C	31.46
D	31.50
E	31.60

12)	1/3 + ½ = ?
A	7/9
B	7/8
C	5/6
D	4/6
E	2/3

13) 46 / 4.6 = ?
A	4
B	6
C	8
D	10
E	12

14)	¼ x 600 = ?
A	125
B	150
C	175
D	200
E	225

15)	0.25 x 0.5 = ?
A	0.120
B	0.125
C	0.130
D	0.135
E	0.140

16)	90 + 0.99 = ?
A	90.09
B	90.90
C	90.99
D	99.09
E	99.99

17)	550 / 11 = ?
A	50
B	49
C	48
D	47
E	46

18)	5.5 x 9.5 = ?
A	51.25
B	51.75
C	52.25
D	52.50
E	52.75

19) 	¼ x 500 = ?
A	125
B	150
C	175
D	200
E	225

20)	What is 30% of 250?
A	60	
B	65
C	70
D	75
E	80
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